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= Ag daZn

O Ao, FF L o|YAI7|E #=F (20~'22 T)
x| == o[o47] S=2 HHe Hel= A A0
B (%) (%) (9) (kg/10a)  (kg/10a)
5.30 90.3 81.6 25.5 525 401
o 6.10 87.7 80.8 24.8 503 451
6.20 93.4 81.9 25.7 502 440
6.30 90.6 81.2 26.3 421 349
5.30 93.4 82.5 22.6 543 508
2 yz 6.10 89.8 82.7 22.6 558 508
= © 6.20 92.0 82.5 23.0 503 445
6.30 91.1 82.3 23.3 465 408
5.20 91.4 83.0 21.4 564 520
o 5.30 94.1 83.1 22.4 557 516
=e 6.10 90.6 83.0 22.6 583 485
6.20 89.3 82.2 21.9 557 385
5.20 85.7 82.7 25.5 546 375
ot 5.30 85.2 83.0 24.8 543 415
6.10 89.2 82.6 23.9 505 431
6.20 88.9 83.1 24.7 497 438
5.10 94.9 83.8 23.4 561 548
240 o= 5.20 91.7 83.6 23.2 539 506
=5 o= 5.30 89.5 83.0 23.6 537 504
6.10 88.7 82.7 23.3 488 437
5.10 92.6 82.2 23.4 580 360
o 5.20 92.0 82.8 22.7 554 495
=e 5.30 87.9 81.8 22.4 532 439
6.10 82.8 79.0 21.8 423 298
5.20 84.6 82.0 24.8 523 399
ot 5.30 80.2 81.8 24.7 509 394
6.10 83.5 82.4 24.1 469 409
6.20 87.7 83.0 25.0 504 413
5.10 94.5 83.3 22.1 540 348
. = 5.20 94.8 83.3 21.5 528 490
ce c= 5.30 90.8 83.5 22.1 540 499
6.10 85.6 83.7 22.8 525 470
5.10 93.8 83.4 21.4 5571 358
o 5.20 93.1 84.2 21.7 590 533
2o 5.30 91.4 83.9 22.1 584 497
6.10 78.1 83.3 22.3 535 429
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